
Legyen f(x) konvex függvény, legyen u1 ≧ u2 ≧ . . . ≧ uk és v1 ≧ v2 ≧ . . . ≧ ≧ vk; vezessük be a

(13) D1 =
f(v1)− f(u1)

v1 − u1

, D2 =
f(v2)− f(u2)

v2 − u2

, . . . , Dk =
f(vk)− f(uk)

vk − uk

továbbá az

U1 = u1, U2 = u1 + u2, . . . , Uk = u1 + u2 + . . .+ uk

és

(14) V1 = v1, V2 = v1 + v2, . . . , Vk = v1 + v2 + . . .+ vk

jelöléseket. Legyen

(15) U1 < V1, U2 < V2, . . . , Uk−1 < Vk−1, de Uk = Vk.

Mutassuk meg, hogy ekkor

U1(D1 −D2) + U2(D2 −D3) + . . .+ Uk−1(Dk−1 −Dk)+

+UkDk < V1(D1 −D2) + V2(D2 −D3) + . . .+

+Vk−1(Dk−1 −Dk) + VkDk(16)

és

(17) u1D1 + u2D2 + . . .+ ukDk < v1D1 + v2D2 + . . .+ vkDk
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